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Solving Quadratic Equations

by Graphing

find g -\
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1. Solve each equation by graphing the corresponding function and
determining the zeros.

) 27 =5:=3=0  Nerify (-0.g o)



2. Solve each equation by graphing the expressions on both sides of the

:,-qum:inn-

a)- W+ % = 24

Metnod |

Y2 x + S

Va< 2y

2006M-~2 3 300m out
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Firs+ Curve? X= 3
Second Curvue?
Guess?

Method 2
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EXAMPLE 1 Verifying solutions to a quadratic equation

The Hight time for a long-distance warer ski
jumper depends on the initial velocity of the
i'l.l rl'IF i | r".i lhl.' -'H'Iglli.' l;'l'. tl']t' i I.'L [_.l:l]' O
particular jump, the ramp has a vertical height
UFE R :lil:lu'\"..' wanler |.'L"|-'L'I. II-|:'|‘L' I'I-L'ig;'lf “"-[I']‘L' '11-:.; r

jumper in ﬂig_hl:., (1), in metres, over time, £,

in seconds, can be modelled by the following

Fl]lli.'[il”l:
Interseckion
M) = 5.0 + 24.46r — 4.9¢7 X=C 0607346 Iv=y

How long does this warter ski jumper hold

his flight pose? ‘x-: 5 _l 5

The skier holds his flight pose until he is 4.0 m above the
water,

4.Om = 5.0+ a4.UGE-HAL*

+



EXAMPLE 3 Solving a quadratic equation in non-standard form

Determine the roots of this quadratic equation. Verify your answers.

3 —6x+5=2x4 — x)



p. 379 - 1a, 2a, 3a, 4a, 5a, 6a, 10, 13a



